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. 10.7 Special S-egme'nts i-r‘i a Circ-lé |
Targetlgé% @fi)ﬁ@ﬁﬁﬁj ot Chor @{f and .
Seceats 4o Ladl Mg pOris of a Liwle,

a% Segments Intersecting Inside a Cirgle Wh&:ﬂ two chords intersect inside
= acircle, each chord is divided into two segments, called

 Theerer 10.15 Segments of Chords Theorsm
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i Words if two chortls intérseét in a circle, then éhe products
' of the lengths of the chord segments are equal.’
i Example AB .+ BD == OB BF
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. Words 1 two secants intersect in the exterior of a circle, then
the product of the measures of one sacant segment
and {ts external secant segment is equal to the 4
product of the measuess of the other secant and its
axterrial secarit sagment.

| Example  AC AB= AE- AD fQ(:-g) :)&(y} . f

Find x. | .
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Find x. Assume that s&gmmg% at appear to be tangent are tangent.
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